Решите линейное уравнение ах2 + в = 0, если

	
	Коэффициенты 
	Уравнение 
	Корень уравнения

	1 группа
	а=0, b=0.


	
	


Решите линейное уравнение ах2 + в = 0, если

	
	Коэффициенты 
	Уравнение 
	Корень уравнения

	2 группа
	а=0,b≠0

	
	


Решите линейное уравнение ах2 + в = 0, если

	
	Коэффициенты 
	Уравнение 
	Корень уравнения

	3 группа
	а≠0,b=0

	
	


Решите линейное уравнение ах2 + в = 0, если

	
	Коэффициенты 
	Уравнение 
	Корень уравнения

	4 группа
	а≠0,b≠0

	
	


Проверочная работа 

Желтая карточка - Упражнение на «да»-  + и «нет»- -. Заполни таблицу.

	 
	уравнение
	   а=__, в=  __               
	линейное

	5х-10
	
	
	

	5х=10
	
	
	

	Х2  =16
	
	
	

	-у=0
	
	
	

	0х=0
	
	
	

	0,25=0,5х
	
	
	

	6x-8=x+6 
	
	
	


Зеленая карточка

	Решите уравнение


	Ответ 

	1)-10х=9

2)5х-15+27=5х+12

3) 2(х+9)=13-х                             

4) –х+4=47-х

5) х=-х


	


Красная карточка

	Решите уравнение
	ответ

	1)2(3х-1)=4(х+3) 

2) 2(3х-1)=4(х+3)-14+2х 

3)0,03-3,3х=0,26-х

4)-2(х-5)+3(х-4)=4х+1

5)3(х-1)=2 (х+2)


	


